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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529303
Question Shuffling Allowed : Yes

Question Id : 2105297939 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)

Question Label : Comprehension

Based on the data in the table, answer the questions that follow

The following table embodies the details about the students of the different departments’ A, B
and C in a University for participating in the blood donation camp.

Participation in Blood Donation Camp - Data

Percentage| Percentage of blood | Number of blood

Degariment iy donatingGirls* donating Boys*
A 25% 40% 48
B 40% 50% &
30% 70% 39

* - out of total blood donors

Sub questions

Question Number : 1 Question Id : 2105297940 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In case all the girls in the department 'A’ donated blood, then the number of boys in the
department ‘A’ who did not participate in the blood donation camp is

1.32
2.48
3. 60
4. 56

Options :

21052931201. 1
21052931202. 2
21052931203. 3

21052931204. 4

Question Number : 2 Question Id : 2105297941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who donated blood in the department 'C' is

1. 39
2 91
3.130
4. 169

Options :

21052931205. 1
21052931206. 2
21052931207. 3
21052931208. 4

Question Number : 3 Question Id : 2105297942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The number of girls in the department 'A" who donated blood is

1. 32
2.130
3.55

4. 48

Options :
210529312009. 1
21052931210. 2
21052931211.3
21052931212. 4

Question Number : 4 Question Id : 2105297943 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If 45 boys from the department 'B' did not donate blood, then the total number of students in
the department 'B' is

1.120
2. 150
3. 80

4. 200

Options :

21052931213. 1
21052931214. 2
21052931215.3

21052931216. 4

Question Number : 5 Question Id : 2105297944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the ratio of the number of blood donors in the department ‘A’ compared to the

number of blood donors in 'B'?

1.1:5
2. 25
3.9:16
4. 815

Options :

21052931217. 1
21052931218. 2
21052931219.3

21052931220. 4

Question Id : 2105297939 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)
Question Label : Comprehension
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A | 25% 40% 48

B 40% 50% 75

C 30% 70% 39
* . o Laderdiel 4 ¥

Sub questions

Question Number : 1 Question Id : 2105297940 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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H@TQ:

1.32
2.48
3. 60
4.56

Options :

21052931201. 1
21052931202. 2
21052931203. 3

21052931204. 4

Question Number : 2 Question Id : 2105297941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
IdIGH H YT o ard faHrT ¢ & fqenidal o 9= g

1. 39
91
130
4. 169

b P

Options :

21052931205. 1
21052931206. 2
21052931207.3

21052931208. 4

Question Number : 3 Question Id : 2105297942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 32
2.130
3.55

4. 48
Options :

210529312009. 1
21052931210. 2
21052931211.3

21052931212. 4

Question Number : 4 Question Id : 2105297943 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931213. 1
21052931214. 2
21052931215.3
21052931216.4

Question Number : 5 Question Id : 2105297944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931217. 1
21052931218. 2
21052931219.3
21052931220. 4

Sub-Section Number : 2
Sub-Section Id : 210529304
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105297945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If your students are identified as 'Unable but willing' in terms of their performance readiness
level, which of the following methods of teaching will be considered appropriate to deal with

them?

1. Giving challenging tasks during teaching

2. Providing scope for sharing responsibility and recognition

3. Mentoring and guiding with close supervision

4. Small step presentations with error free tasks and frequent reinforcement

Options :

21052931221. 1
21052931222. 2
21052931223.3
21052931224. 4

Question Number : 6 Question Id : 2105297945 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931221.1
21052931222. 2
21052931223. 3

21052931224. 4

Question Number : 7 Question Id : 2105297946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify from the following list of competencies of teaching, those which are related to
personality and attitude

A. Managing

B. Monitoring

C. Locus of control

D. Planning

E. Self-efficacy

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Cand D only
4. Cand E only

Options :



21052931225.1
21052931226. 2
21052931227. 3

21052931228. 4

Question Number : 7 Question Id : 2105297946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931225. 1
21052931226. 2
21052931227. 3
21052931228. 4

Question Number : 8 Question Id : 2105297947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List I

Assessment and Test § 3

L . Description

interpretation methods

A. Formative assessment |. The test data help us to determine a student’s rank

; IIl. The test data tell us about a student's level of
B. Summative assessment .
proficiency

) lIl. The intention in the evaluation is to identify scope for
C. Norm-referenced testing )
improvement

o , . V. Evaluation is in the form of judgment to be used for at
D. Criterion-referencing testing

least immediate future

Choose the correct answer from the options given below:

TA-LB-ILC-N,D-1IV
2A-NILB-IV,C-1,D-I
3.A-W,B-ILC-1I,D-I
4 A-1,B-1,C-IV,D-1lI

Options :

21052931229. 1
21052931230. 2
21052931231.3

21052931232. 4

Question Number : 8 Question Id : 2105297947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TL.A-1LB-ILC-1ILD-IV
ZA-NLB-IV,C-I,D-Il
3A-IV,B-IILC-1,D-1
4 A-I,B-1,C-1V,D-1l

Options:

21052931229. 1
21052931230. 2
21052931231.3

21052931232. 4

Question Number : 9 Question Id : 2105297948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: ICT based 'teaching support system' has the potential to optimize learning

outcomes

Statement II: Recent research have reported that factors relating to social competence
contribute more to learning than mere cognitive intelligence does

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options:

21052931233. 1
21052931234. 2
21052931235.3

21052931236. 4

Question Number : 9 Question Id : 2105297948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931233.1



21052931234. 2
21052931235. 3

21052931236. 4

Question Number : 10 Question Id : 2105297949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A university teacher proposes a research project on ‘why parents are apathetic to the
university programmes’. Which of the following research methods will be most appropriate for

the project?

1. Experimental method

2. Historical method

3. Participant-observation method
4. Ex post facto method

Options :

21052931237. 1
21052931238. 2
21052931239.3
21052931240. 4

Question Number : 10 Question Id : 2105297949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052931237. 1
21052931238. 2
21052931239. 3

21052931240. 4

Question Number : 11 Question Id : 2105297950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which level of teaching there is optimum scope for cognitive interchange requiring analysis

and synthesis?

1. Memory level teaching

2. Understanding level teaching

3. Reflective level teaching

4. Autonomous development level teaching

Options :

21052931241. 1
21052931242, 2
21052931243.3

21052931244. 4

Question Number : 11 Question Id : 2105297950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931241.1



21052931242. 2
21052931243. 3

21052931244. 4

Question Number : 12 Question Id : 2105297951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Reliability is a necessary but insufficient condition for validity aspect of a research
tool

Statement II: Validity is threatened when a test measures only the construct it is designed to
measure in a research

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is carrect

Options :

21052931245. 1
21052931246. 2
21052931247.3
21052931248. 4

Question Number : 12 Question Id : 2105297951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931245. 1
21052931246. 2
21052931247.3

21052931248. 4

Question Number : 13 Question Id : 2105297952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the features of scientific method from the following list
A. Clearly defined variables and procedures

B. Empirically verifiable hypotheses

C. Little or no scope for self correction

D. Linguistic justification of conclusions

E. Ability to rule out rival hypotheses

Choose the correct answer from the options given below:

1. A, B and E only
2.B, Cand D only
3.C, D and E only
4. B, D and E only

Options :



21052931249. 1
21052931250. 2
21052931251.3

21052931252. 4

Question Number : 13 Question Id : 2105297952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931249.1
21052931250. 2
21052931251.3
21052931252. 4

Question Number : 14 Question Id : 2105297953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the point of view of research ethics which of the following is least vulnerable in research?

1. Problem-formulation and identifying the variables involved
2. Data analysis and interpretation

3. Reporting of research result and their implications

4. Citing a theory in support of one's thesis

Options :

21052931253. 1
21052931254. 2
21052931255. 3

21052931256. 4

Question Number : 14 Question Id : 2105297953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931253. 1
21052931254. 2
21052931255. 3
21052931256. 4

Question Number : 15 Question Id : 2105297954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling methods in research are non-probability based?
A. Cluster sampling method

B. Dimensional sampling method

C. Random sampling method

D. judgement sampling method

E. Snowball sampling method

Choose the correct answer from the options given below:

1. B, C and D only
2. A, Band Conly
3.B, D and E only
4. C, D and E only

Options :

21052931257. 1
21052931258. 2
21052931259. 3

21052931260. 4

Question Number : 15 Question Id : 2105297954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931257.1
21052931258. 2
21052931259. 3

21052931260. 4

Question Number : 16 Question Id : 2105297955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Communication stimuli used to convey the message are known as

1. Process
2. Power
3. Channel
4. Codes

Options :

21052931261. 1
21052931262. 2
21052931263. 3

21052931264. 4



Question Number : 16 Question Id : 2105297955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931261. 1
21052931262. 2
21052931263. 3

21052931264. 4

Question Number : 17 Question Id : 2105297956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Communication activities of learners fall into domains consisting of
A. Perception

B. Groupism

C. Inter-personal skills

D. Regressive behavior

E. Inter-personal relations

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand E only
3. A, Cand D only
4. A, Dand E only

Options :



21052931265. 1
21052931266. 2
21052931267. 3

21052931268. 4

Question Number : 17 Question Id : 2105297956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931265. 1
21052931266. 2
21052931267.3
21052931268. 4

Question Number : 18 Question Id : 2105297957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: New media enhance the opportunities to expand the learning environment

unheard of before
Reason R: Learners can design their own learning process

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052931269. 1
21052931270. 2
21052931271.3
21052931272. 4

Question Number : 18 Question Id : 2105297957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931269. 1



21052931270. 2
21052931271. 3

21052931272. 4

Question Number : 19 Question Id : 2105297958 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sequence of elements in linear model of communication is
A. Message

B. Decoder

C. Encoder

D. Medium

E. Noise

Choose the correct answer from the options given below

1.A CBED
2B D CAE
3.CADEEB
4D ECAB

Options :

21052931273. 1
21052931274. 2
21052931275. 3

21052931276. 4

Question Number : 19 Question Id : 2105297958 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TRIYY] & D UaHH H 9ed! &1 SfHH ¢ -
A HET

. fadida®

C. G

D. AIEGH

£ TR

- fu e fadenl & 9 el Io) gHU:

1.A, C,B,ED

2.B,D,CAE

3CADESB
4D ECAB

Options :

21052931273. 1
21052931274. 2
21052931275. 3

21052931276. 4

Question Number : 20 Question Id : 2105297959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1

List | List II
A. Poor listeners . Scold others
B. Aggressive listeners II. Easily agree with the speaker

—— lIl. Listen to ideas not understanding emotions
C. Positive listener

D. Pseudo-intellectual listeners ) ,
V. Fidget compulsively

Choose the correct answer from the options given below:

TL.A-1LB-ILC-1ILD-IV
2ZA-1L,B-1,C-1V,D-1I
3A-NLB-IV,C-I,D-1
4 A-IV,B-1LC-1LD-1I

Options:

21052931277. 1
21052931278. 2
21052931279.3

21052931280. 4

Question Number : 20 Question Id : 2105297959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gi-1 &I gi-1n U gHferd Sife

-1 Tl- Il

A, &M i . DI B

B. SMTEHTHD HIdl 1. T T gad1 & 91y YeHd 8id &
c.f=p g 1. HIGTTT TR 9 9§ [9aRi &l gd 8
D. U Slfe® idl  |Iv. PR Tad® AdeR UGiRid $d o
- feu e faenl & € 98 SR 9T

1LA-LE-ILC-IIL,D-IV
2 A=, BN, C=-1IV,D~|
3A-NILB-IV,C-1,D-Il
4A-IVBE-LC-II,D-1

Options :



21052931277.1
21052931278. 2
21052931279. 3

21052931280. 4

Question Number : 21 Question Id : 2105297960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A train is travelling at a speed of 96 kilometres per hour. It takes 3 seconds to enter a tunnel
and 30 seconds more to pass through it completely. Which of the following statements are
correct?

A. Length of the tunnel is 100 meters

B. Tunnel is longer than train

C. Train is longer than tunnel

D. Length of the train is 80 meters

E. Length of the tunnel in 800 meters

Choose the correct answer from the options given below:

1. A, Cand D only
2. A and B only
3.Cand D only
4.B, D and E only

Options :

21052931281. 1
21052931282. 2
21052931283. 3
21052931284. 4

Question Number : 21 Question Id : 2105297960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

U JeiTIS! Wil el 96 febeiiHieR i 71fd & Teicll & | 98 U G | Ua & H 3 YehUS oTlell
AR 3! I TRE UR A H 30 Yahvs 3R il 2| Fufafdd 8 4 oHa oY Gel & 2

A. GO 1 TS 100 HeX B
B. QOIS @1 qa | 3 ofel |
C. XTI G ¥ Hfifh il 81
D. XTSI B TG 80 Hiex &

£ Qi @1 il 800 HieX &l
- feu v faseul 4 @ w8 I gL

1. ®aaAA, C3HRD
2. B A 3R B
3.%ad C AR D
4. 590 B DIRE

Options :

21052931281. 1
21052931282. 2
21052931283.3

21052931284. 4

Question Number : 22 Question Id : 2105297961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The difference between the ages of two men is 10 years. 15 years ago, the elder one was twice
as old as the younger one. The present age of the elder man is

1. 25 years
2. 35 years
3. 45 years
4. 40 years

Options :

21052931285. 1



21052931286. 2
21052931287. 3

21052931288. 4

Question Number : 22 Question Id : 2105297961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

&l oOfdedl o S99 § 10 1 @1 3R 81 15 9 Ugdl o adfad @1 98 ®H8 ° G 41 df dadH
4 Y oOfdd 1 I I & ?

Options :

21052931285. 1
21052931286. 2
21052931287. 3

21052931288. 4

Question Number : 23 Question Id : 2105297962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

List | List Il
For two numbers 84 and 96 [Result
A. HCF . 672
B. LCM 1. 8064
C. Product I1l. 180
D. Sum V.12

Choose the correct answer from the options given below:

1.A-,B-IV,C-1ll,D -1l
2A-1,B-IV,C-II,D-1l
S3A-ILBE-W,C-1,D-1
4 A-IV,B-1,C-1I,D-1lI

Options:

21052931289. 1
21052931290. 2
21052931291.3
21052931292. 4

Question Number : 23 Question Id : 2105297962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ol G®=Tal 84 3R 96 & o0 Gi-1 &I Gai-1 § fed e uRomm ¥ gafed $ifeu -

gdl-| -1l

A TI T TH . 672

B. T 91 TH 1. 8064
C. HGd I1I. 180
D. 4T V. 12

d feu TTe fasedl & ¥ U8 SR 9T

1.LA-1L,B-IV,C-1ll,D-1l
2A-1,B-IV,C-I,D-1l
3A-ILB-IV,C-1,D-1I
4 A-IV,B-1,C-1I,D-1l

Options :



21052931289. 1
21052931290. 2
21052931291. 3

21052931292. 4

Question Number : 24 Question Id : 2105297963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement |: A number is divisible by 25, if the number formed by its last two digits is either
(00) or divisible by (25)

Statement II: A number is divisible by 16, if the number formed by its last 4 digits is divisible

by 16

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052931293. 1
21052931294. 2
21052931295. 3
21052931296. 4

Question Number : 24 Question Id : 2105297963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d & Py IGU T § -

Y- - TP &A1 25 GRI fauTed €, 4fG 59 9% & Jifad &l 3@ (00) T1 (25) § Ay=a £

?FHI - U@ GT1 16 G [0UNT &, T 39 T & Sifdd IR @l gRT &1 9811 16 3 faureg
|

IR BYAT & el A i [dabedl H 9 §gl IR I -

1. 5% | R 1 ST TR B

2. B | 3R 1| &HI Tad B

3. BYH-1 9 &, fooeg Y- T B
4, BY-1 39 ¢, o HoU-11 el B

Options:

21052931293. 1
21052931294. 2
21052931295. 3

21052931296. 4

Question Number : 25 Question Id : 2105297964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Triangle Area . Base x hight

B. Square Area 1. 1/2 x (Product of diagonals)
C. Rhombus Area lll. 1/2 x Base x Height

D. Parallelogram Area V. (Side)?

Choose the correct answer from the options given below:

TLA-ILE-IWV,C-1,D-1
2ZA-NLE-IV,C-1,D-1I
32A-NILBE-IV,C-1,D-1
4 A-ILB-IILC-L,D-IV

Options :
21052931297. 1

21052931298. 2



21052931299. 3
21052931300. 4

Question Number : 25 Question Id : 2105297964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gil-1 Bl Gai-1l T AT Bifore :

gal-| gl-I1

A. BIUS &1 & . SR x $dls

B. 911 &Ee 1. 1/2 x (AT &1 TUHD)
C. §HAgHH @ &A%d 1. 1/2 x TR x Has

D. AR Igysl &1 &A% V. (T2

< & e fgoel O @ 98l SR g

LA-=I, BN C~-1D=]1
2A-NILB-IV,C-1l,D-|
3A-NILB-IV,C-1,D-1l
4A-ILB-IILC-1,D-1IV

Options :

21052931297. 1
21052931298. 2
21052931299. 3

21052931300. 4

Question Number : 26 Question Id : 2105297965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



All flowers are toys. Some toys are trees. Some butterflies are trees, then
A. No butterfly is flower

B. Some butterflies are toys

C. Some toys are flowers

D. Some trees are flowers

E. Some trees are butterflies

Choose the correct answer from the options given below:

1. A and B only
2. C and E only
3.B and E only
4. B and D only

Options :

21052931301. 1
21052931302. 2
21052931303. 3

21052931304. 4

Question Number : 26 Question Id : 2105297965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ot qw fedH & | 79 fGar 94 8| ©9 faafoai gaf & dl -
A. 13 off ol g T B

B. $9 fadfergi RacH B

C. T3 fGaH W g1

D. % d&l q B

E. ©o g4 faaferi g

i f&u ¢ famedl H 9 wel I g :

1. Pad A 3R B
2. ®Had C 3R E
3. ®HaaB AR E
4. HaAB 3R D

Options :

21052931301. 1
21052931302. 2
21052931303. 3

21052931304. 4

Question Number : 27 Question Id : 2105297966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Wherever there is smoke, there is fire.

There is smoke in Mr Verma's chamber.

There must be fire in Mr Verma's chamber.”

In accordance with Indian logic, this is an example of

1. Pratyaksha pramana (Perception)
2. Upmana (Comparison)

3. Hetvabhasa (Fallacy)

4. Vyapti (Invariable relations)

Options :



21052931305. 1
21052931306. 2
21052931307. 3

21052931308. 4

Question Number : 27 Question Id : 2105297966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ot aaf & ®& T Y3 |
ot af & wer o Sy BT =Ry -

YR dh YR & 3R Je FHgfafad 8 U fad! 3aeiv e :

1. & HHI0
2. 309
3. 5dlHY

4, G
Options :
21052931305. 1
21052931306. 2
21052931307. 3

21052931308. 4

Question Number : 28 Question Id : 2105297967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In order to authenticate the environmental values as advocated by our ancestors, a scholar
cites examples from Vedas. The means of knowledge used by him/her in terms of Indian logic

will be called

1. Anumana (inference)

2. Arthapatti ( Implication)

3. Shabda (Verbal testimony)
4. Upamana (Comparison)

Options :

21052931309. 1
21052931310. 2
21052931311.3

21052931312. 4

Question Number : 28 Question Id : 2105297967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

ARG T AR R R T R K a1 B A LA R e T R RS ST
B | YR TbRd B 218 U I8eh R TG T B WIHH DI F Bgl ST

1. S HH
2. 3fufuf
3. et

4, JUHH

Options :

210529313009. 1
21052931310. 2
21052931311.3

21052931312. 4

Question Number : 29 Question Id : 2105297968 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

In the series B, D, H, J, N, P, ... What will come after P?

bt [ =

U
5
R
T

s

Options:

210529313131
21052931314. 2
21052931315.3
21052931316. 4

Question Number : 29 Question Id : 2105297968 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
$@el B, D, H, J, N, P H P & SIg &1 ST 2

W o=

U
5
R
T

b

Options :

21052931313. 1
21052931314. 2
21052931315. 3

21052931316. 4

Question Number : 30 Question Id : 2105297969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



If LIGHT is written as GILTH and FIGHT is written as GIFTH, then SIGHT will be written as

1. GISHT
2. GISTH
3. GSITH
4. GSIHT

Options :

21052931317. 1
21052931318. 2
21052931319. 3

21052931320. 4

Question Number : 30 Question Id : 2105297969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qfE LIGHT B! GILTH U H o781 W1l § 3R FIGHT ®I GIFTH & ¥ H e 91l 8 ol SIGHT
P! by U 4 fer@1 e 2

1. GISHT
2. GISTH
3. GSITH
4, GSIHT

Options :

21052931317.1
21052931318. 2
21052931319.3
21052931320. 4

Question Number : 31 Question Id : 2105297970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ul stands for

1. Graphical Usage Interaction
2. Gaming User Interface

3. Graphical user Interface

4. Graphical User Interaction

Options :

21052931321. 1
21052931322. 2
21052931323.3

21052931324. 4

Question Number : 31 Question Id : 2105297970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
EIREG IS GRS

1. Mhob e G 3eITGEH
3. Wb d gok 3e3bY
4, e goR eI

Options :

21052931321. 1
21052931322. 2
21052931323.3

21052931324. 4

Question Number : 32 Question Id : 2105297971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Operating systems are hardware

Statement II: Algorithm is a step by step procedure to solve a problem

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4. Statement | is incorrect but Statement Il is true

Options :

21052931325. 1
21052931326. 2
21052931327.3
21052931328. 4

Question Number : 32 Question Id : 2105297971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
EICEAG IR RAE) (S

-1 ; ATRFT e BT B

HUT-|| : Teiiied faf fordd Toea & Qe 31 90--9v UgTd B
SR R & e P R 319 W SR E

1. B4 | 3R 1 ST TR B

2. B | 3R 11 1 7T B

3. BYH-1 9 &, foog HYH-11 Tad B
4, BYF-1 3T ©, foog BYA-11 Gl B

Options :

21052931325. 1
21052931326. 2
21052931327.3

21052931328. 4



Question Number : 33 Question Id : 2105297972 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
Given below are two statements

Statement |: Compilers are software

Statement II: Touch screen monitors are input/output devices

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052931329. 1
21052931330. 2
21052931331. 3

21052931332. 4

Question Number : 33 Question Id : 2105297972 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

el By AU U § :

FHUA-| : FHRAY JIGedai 8|

HYA-II : T 1A HiHICY ST/ SUBUT & |

Sudad B B e 3 P el § 9 o8 IR 9

1. Y | 3R 11 ST Gt B
2. @Y | 3R 11 GFl Tad & |
3. BYH-1 9 B, fooeg HYH-11 TAd B
4. DYH-1 39 8, T HYH-11 981 B

Options :



21052931329.1
21052931330. 2
21052931331.3

21052931332. 4

Question Number : 34 Question Id : 2105297973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 11

List | List Il

A. Image . .doc

B. Video 1. .mp3
C. Audio Ill. jpeg
D. Word processing V. .mpeg

Choose the correct answer from the options given below:

TA-LE-IL,C-ILD-1V
2A-ILB-IV,C-1I,D-|
SA-ILB-NLC-1IV,D-|
4 A-1LB-IV,C-IIL,D-1

Options :

21052931333. 1
21052931334. 2
21052931335. 3
21052931336. 4

Question Number : 34 Question Id : 2105297973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G- Dl Tali-11 & Y Ao B -

gdl-| gdl-Ii

A, THA . St 3 i
5. difsdr . TH U3

C. 3ffsar 1. = O g o
D. 93 W V. T O g ol
- feu e f9@eal § 9 981 SR g

1.A-1L,B-I,C-1I,D-1V
ZA-IILB-IV,C-II,D-1
3A-ILB-1ILC-IV,D-1
4 A-1,B-IV,C-1ILD-1I

Options:

21052931333. 1
21052931334. 2
21052931335.3

21052931336. 4

Question Number : 35 Question Id : 2105297974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List 11

List | List Il

A. Search engine . www.gmail.com
B.Job openings Il. www.amazon.in
C. E-mail Ill. www.google.com
D. E-commerce V. www.naukri.com

Choose the correct answer from the options given below:

1LA-NLB-IV,C-|,D-Il
2A-WV,B-IILC-1,D-Il
3A-LB-1LC-1ILD-IV
4A-LB-NILC-N,D-1IV

Options :

21052931337. 1



21052931338. 2
21052931339. 3

21052931340. 4

Question Number : 35 Question Id : 2105297974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gi-1 &I ai-1 ¥ gHfcd Sife ;

gal-| -1l

A Td SO . www.gmail.com

5. Siig AU ll. www.amazon.in

£ i—ﬁﬁf ll. www.google.com
D. éﬁmﬁ. V. www.naukari.com
g R ey B g gt Sl

1LA-NI,B-IV,C-1,D-Il
2ZA-IV,B-ILC-I,D-1
3A-1,B-I,C-IILD-1V
4 A-1,B-IILC-1I,D-1IV

Options :

21052931337. 1
21052931338. 2
21052931339. 3

21052931340. 4

Question Number : 36 Question Id : 2105297975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries contributing to global CO; emission in decreasing
order from fossil fuel burning, cement manufacturing and gas flaring in the year 2014

A USA

B. EU-28

C. China

D. Russia

Choose the correct answer from the options given below

1.C,ABD
2ACBD
3.ABCD
4 ACDEB

Options :

21052931341. 1
21052931342. 2
21052931343.3

21052931344. 4

Question Number : 36 Question Id : 2105297975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a8 2014 B SilaTeH S8 & wor, 9He & 000 3R 719 & Twafeid g4 & SR ai¥d co,
e 8 TNEH B aTel ¢l & ged Y $ GgdH BIog ;

A, G T SR

B.3 Y- 28

C.9H

D.¥H

I fau T fomedl & € T8 S gL

1.CABD
2ACED
3.ABCD
4 ACDE



Options :

21052931341. 1
21052931342, 2
21052931343.3
21052931344. 4

Question Number : 37 Question Id : 2105297976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following are used as semiconductor materials to fabricate solar cells
A. Silicon (5i)

B. Tin oxide (SnO)

C. Cadmium Sulphide (CdS)

D. Gallium Arsenide (GaAs)

Choose the correct answer from the options given below:

1. A and C only
2. A and B only
3.B, Cand D only
4.A,B CandD

Options:

21052931345. 1
21052931346. 2
21052931347.3

21052931348. 4

Question Number : 37 Question Id : 2105297976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fofaRad & O fogd Oier 9 @ (A § THidadey @ ©U § Sugn fddl Jidl g ?
A, fafa®E (si)

5. &9 HIFES (SnO)
C. P3HEH IThI5S (CdS)

D. TTIGH EAES (GaAs)
= f&u v famedl & ¥ 98! S gHU:

1. BaA A AR C
2. had A 3R B
3. $ad B, C 3R D
4.A, B, C3RD

Options :

21052931345. 1
21052931346. 2
21052931347.3

21052931348. 4

Question Number : 38 Question Id : 2105297977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a Sustainable Development Goal?

1. Gender equity

2. Climate action

3. Protection of Ozone layer
4. Life below water

Options :

21052931349. 1
21052931350. 2
21052931351. 3

21052931352. 4



Question Number : 38 Question Id : 2105297977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931349. 1
21052931350. 2
21052931351. 3

21052931352. 4

Question Number : 39 Question Id : 2105297978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 11

Pathogens in water Disease they cause
A. Virus . Cholera

B. Bacteria II. Schistosomiasis
C. Protozoa lll. Hepatitis

D. Helminths (Parasitic worm) IV. Dysentery

Choose the correct answer from the options given below:

TLA-LE-NILC-IV,D-1l
2A-LB-ILC-I,D-IV
JA-IILE-LC-ILD-IV
4A-NLE-1,C-IV,D-1

Options :
21052931353, 1

21052931354. 2



21052931355. 3
21052931356. 4

Question Number : 39 Question Id : 2105297978 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.A-LB-U,C-IV,D-1ll
2ZA-1,B-1I,C-II,D-1IV
3A-IILB-1,C-II,D-1V
4 A-1ILB-,C-IV,D-1i

Options :

21052931353. 1
21052931354. 2
21052931355. 3

21052931356. 4

Question Number : 40 Question Id : 2105297979 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are emitted from a coal-based thermal power plant?
A. Carbon monoxide

B. Ozone

C. Sulphur dioxide

D. Methane

E.Particulate matter

Choose the correct answer from the options given below:

1. A, B, Cand E only
2. A, Cand E only
3. A, Band Conly
4. A C DandE only

Options :

21052931357. 1
21052931358. 2
21052931359. 3

21052931360. 4

Question Number : 40 Question Id : 2105297979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. HaAA, C, DARE

Options:

21052931357. 1
21052931358. 2
21052931359. 3

21052931360. 4

Question Number : 41 Question Id : 2105297980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: The three greatest challenges facing higher education in India, described by
FICCI (2012) are expansion, equity and excellence

Statement II: While all three issues indicated in Statement | are inter-linked, equity to a large
extent is dependent on expansion and access

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true



Options :

21052931361. 1
21052931362. 2
21052931363. 3

21052931364. 4

Question Number : 41 Question Id : 2105297980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931361. 1
21052931362. 2
21052931363. 3

21052931364. 4

Question Number : 42 Question Id : 2105297981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are regulatory bodies within the Department of Higher Education in the
Ministry of Human Resource Development in the Central Government?

A. NUEPA

B. UGC

C. AICTE

D. DEC

E. ICSSR

Choose the correct answer from the options given below:

1. B, Cand D only
2. A B and Conly
3.C, D and E only
4. A Dand E only

Options :

21052931365. 1
21052931366. 2
21052931367.3

21052931368. 4

Question Number : 42 Question Id : 2105297981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931365. 1
21052931366. 2
21052931367.3
21052931368. 4

Question Number : 43 Question Id : 2105297982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify from the following, features which describe most appropriately the Indian values
A. Emphasis on individual ambition

B. Emphasis on collectivism

C. Emphasis on social progress

D. Emphasis on social stability

E. Emphasis on unity in diversity

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3.C, DandE only
4. B, D and E only

Options :

21052931369. 1
21052931370. 2
21052931371.3

21052931372. 4

Question Number : 43 Question Id : 2105297982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931369. 1
21052931370. 2
21052931371.3

21052931372. 4

Question Number : 44 Question Id : 2105297983 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: The UGC in India has statutory responsibility for maintenance of quality and

coordination of institutions of higher education

Statement II: The NCTE being a regulatory body for teacher education in India comes under
the control of UGC

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options:

21052931373. 1
21052931374. 2
21052931375.3

21052931376. 4

Question Number : 44 Question Id : 2105297983 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931373. 1



21052931374. 2
21052931375. 3

21052931376. 4

Question Number : 45 Question Id : 2105297984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In university governance, who is the executive head?

1. The Chancellor

2. The Vice-Chancellor

3. The Registrar

4. The Education Secretary

Options :

21052931377. 1
21052931378. 2
21052931379. 3

21052931380. 4

Question Number : 45 Question Id : 2105297984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052931377. 1
21052931378. 2

21052931379. 3



21052931380. 4

Sub-Section Number : 3
Sub-Section Id : 210529305
Question Shuffling Allowed : Yes

Question Id : 2105297985 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

At the turn of the century, a dominant conception of the child as learner was that he was
cognitively an "empty organism” responding more or less randomly to stimulation, and
characteristically learning when specific responses were connected with specific stimuli
through the meditation of pleasure or pain. The organism itself, it was believed, would do
nothing to learn or think if it were not impelled to such activity by primary drives like hunger
or thirst or by externally applied motives like reward and punishment. Experimenters in the
laboratory were connecting correct responses of animals to puzzle boxes by giving or
withholding food and teachers in the classroom were connecting correct responses of children
to problem cards by giving or withholding approval.

In pointing to this aspect of the turn-of-the-century view of the learner, | do not mean to
derogate the historic achievement of the connectionist formulation of learning. But the
essential point remains, a conception of the learner as an ideationally empty organism
associating discrete stimuli and responses through the operation of rewards and punishments
under the control of the teacher. Both the stimulus - what was supposed to be learned - and
the response - what was actually learned - were believed to be determined by the teacher.

It was no accident that the materials and methods of instruction and the form of the classroom
were teacher-centred. The teacher was necessarily placed in front of the classroom -
sometimes on a dais or platform - and the pupils in chairs rigidly fastened to the floor in
straight rows facing forward so they would not turn away from the only source of the learning
experience: the teacher. Given this contemporary vision of the learner, what could be a more
eminently practical and sensible image of the ideal learning environment? Indeed, there is a
letter by John Dewey dating from this period in which he complains that when he was trying to
equip his new school according to his different conception of child as learner, he was unable
to find any other kind of classroom furniture.

Sub questions



Question Number : 46 Question Id : 2105297986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The early child was thought of as

1. Intelligent enough to know both pain and pleasure
2. Having no power of cognition

3. Not amenable to specific stimuli

4. Having motivational effect in a random way

Options :

21052931381. 1
21052931382. 2
21052931383. 3

21052931384. 4

Question Number : 47 Question Id : 2105297987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The basic idea behind laboratory experiment was related to

1. Motivating the child with reward and punishment

2. Considering hunger and thirst as negligible in impact
3. Animals and children having the same drive

4. Teachers controlling children

Options :

21052931385. 1
21052931386. 2
21052931387.3

21052931388. 4

Question Number : 48 Question Id : 2105297988 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The connectionist formula placed importance on

1. Withholding negative stimuli

2. Teacher-centric motivation

3. Search for specific responses

4. Doing experiments in laboratories

Options :

21052931389. 1
21052931390. 2
21052931391. 3

21052931392. 4

Question Number : 49 Question Id : 2105297989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

What was expected of pupils during those early days?

1. To create an ideal learning environment

2. To be in the forefront of the classroom

3. Be attentive towards classroom teaching

4. To place the teacher on the higher pedestal

Options :

21052931393. 1
21052931394. 2
21052931395. 3
21052931396. 4

Question Number : 50 Question Id : 2105297990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What did John Dewey say of child learning?

1. Teacher as the only source of knowledge

2. The learner should be given incentives for learning
3. The existing educational environment was ideal

4. The focus should be on child as a learner

Options :

21052931397. 1
21052931398. 2
21052931399. 3

21052931400. 4

Question Id : 2105297985 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 2105297986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:
21052931381. 1
21052931382. 2



21052931383. 3
21052931384. 4

Question Number : 47 Question Id : 2105297987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931385. 1
21052931386. 2
21052931387. 3

21052931388. 4

Question Number : 48 Question Id : 2105297988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931389. 1
21052931390. 2
21052931391. 3

21052931392. 4



Question Number : 49 Question Id : 2105297989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931393. 1
21052931394. 2
21052931395. 3

21052931396. 4

Question Number : 50 Question Id : 2105297990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931397.1
21052931398. 2
21052931399. 3

21052931400. 4



